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LSE•13 

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2015 

01 1 1 0 	LIFE. SCIENCE 

LSE-1 3 : PLANT DIVERSITY-II 

Time : 3 hours 	 Maximum Marks : 75 

Note : Question no. 1 is compulsory. Attempt any five 
questions from questions no. 2 to 8. 

1. (a) Fill in the blanks : 	 5x 1=5 

(i) Xylem tissue in Pinus consists of 
parenchyma and 	  

(ii) Generally, well developed endodermis 

with casparian strips are found in 

	(organ). 

(iii) The generic name, which provides the 

name of the family, is also referred to 

as the 	 of the family. 

(iv) The edible part of orange is 	 

(v) 	are the thin sheets of wood 

of uniform thickness produced by 

peeling, slicing or sawing logs. 
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(b) Mention whether the following statements 

are True or False : 	 5 x 1=5 

(i) Female cone of Cycas is present in the 
centre of the crown surrounded by scale 
leaves. 

(ii) Sieve tube elements contain living 
cytoplasm. 

(iii) Cyathium is a type of fruit found in 
Euphorbiaceae. 

(iv) The essential oil in Vetiveria 

zizanioides is extracted from roots. 

(v) Jute fibers are xylem fibers obtained 
from the stem of jute plants. 

(c) Write your answer in one or two words for 

each of the following : 	 5 x 1=5 

(i) Scientific name of a gymnosperm 

possessing ciliated male gametes. 

(ii) Name of the family characterized by 

presence of gynobasic style. 

(iii) Example of a fiber which is an 

outgrowth of seed coat. 

(iv) Stem which is modified into a flattened 

green and fleshy structure with 

reduced leaves. 

(v) Scientific name of the plant from the 

bark of which a spice is obtained. 
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2. Draw well-labelled outline diagram of any three 
of the following : 	 3x4=12 

(a) L.S. of Pinus male cone 

(b) V.S. of monocot leaf 

(c) L.S. of fruit of black pepper 

(d) T.S. of ovary of a tricarpellary gynoecium, 
with axile placentation 

(e) L.S. of pea seed 

3. Write short notes on any three of the 
following : 	 3x4=12 

(a) Embryogeny in Gnetum 

(b) Root apex of angiosperms 

(c) Diagnostic characteristics of family 
Cucurbitaceae 

(d) Importance of vegetables 

(e) Xylem tissue of angiosperms 

4. Differentiate between any three of the 
following : 	 3x4=12 

(a) Stem of Cycas and Pinus 

(b) Collenchyma and Sclerenchyma 

(c) Vascular cambium and cork cambium 

(d) Floral features of Asteraceae and Brassicaceae 

(e) Medicinally active compounds of Rauwolfia 
and those of Digitalis 
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5. (a) "Most of the spices are medicinally 

important." Justify by giving examples. 	6 

(b) Describe wheat breeding and improvement 

programmes. 

6. (a) "Leguminosae is one of the most 

economically important families." Justify 

the statement. 

(b) Lamiaceae 	have 	distinct 	floral 

characteristics. Comment. 

7. (a) Describe briefly various methods of 

extraction of essential oils or the tapping 

and processing of rubber. 

(b) Describe the modifications in plant parts of 

angiosperms that help them to adapt to dry 

and wet habitats. 

8. (a) Flowers have developed various structural 

modifications to favour pollination by 

insects. Explain with examples. 

(b) Describe briefly the processing procedure for 

coffee berries/tea leaves. 
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